3.4 Similar Triangles

Math 9 Similar Triangles

Similar triangles have the same shape but are not the same size. Their corresponding angles
are equal and their corresponding sides are proportional.

List the corresponding sides for the triangles below. Are the triangles similar?
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Are the following triangles similar? If they are, determine the missing side lengths.
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Show that ADBA ~ ADCE. Then calculate the values of x and y.

D X _ Mo
6.0cm™ \3 (em ©0 6.0
E
¢ eoem X =I40cm
D
DA ato

4 oty 3.6”7 6.0
cD=L(D DA =!H:0%36 o,
LB"'LDCE B x A 6.0 -
LA=£DEC 36ty = 84

y =4.8cm
Shiva is standing beside a lighthouse on a sunny day, as shown. She measures the length of
her shadow and the length of the shadow cast by the lighthouse. How tall is the lighthouse?
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The Ighihwsc is 25m tall. - —

A new bridge is going to be built across a river, but the width of the river cannot be measured

directly. Surveyors set up posts at points A, B, C, D, and E. Then they took measurements
relative to the posts. Determine the width of the river.
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The width of the nver is about 2 m.

Assignment: p.150#5- 7,9, 10,12 - 16, 18a



